TIMES TABLES

Answer: In the times table of 7, we find

A TIMES TABLES

TX6=42
A.1 CALCULATING USING THE TIMES TABLE Tx0=0
Tx1=7
1x0=0 Tx2=14
Ix1=4 Tx3=21
4x2=28 7Tx4=28
dx3=12 Ex 4: Given the times table of 7 7 x 5 = 35,
I x4=16 TX6=42
Ex 1: Given the time table of 4 4 x5 = 20, 7% 7 =49
4x6=24 7x8 =56
Ax7=28 7x9=03
I x 8=232 7x10="70
I x9 =236
calculate 7 x 6 = 42
4 x 10 =40
Answer: In the times table of 7, we find
lculate 4 x 9 =36
calculate = 1
Answer: In the time table of 4, we find Ix0=0
] 4dx1=41
x99 =36
1x2=38
§x0=0 xa=
Sx1=8 I x4 =16
8% 9 =16 Ex 5: Given the times table of 4 4 x 5 = 20,
Sx3=21 I 6= 21
8 x4=32 PX T =28
Ex 2: Given the times table of 8 8 x 5 = 40, 4x8=32
88X 6=48 4x9=236
8 x 7= 56 10 =40
8 X 8 =064 calculate4><7:
Ex9=12 Answer: In the times table of 4, we find
8 x 10 =80

AxT7T=28

calculate 8 x 7 =

Answer: In the times table of 8, we find

B TIMES TABLE OF 2345 10

B.1 MULTIPLYING BY 2345 10

8 X 7=056
Ex6:2><3:@
7Tx0=0
_ Answer:
(x1="7
7% =14 e 2x0=0
Tx3=21 oxl=2
7x4=28 Ix2=4
. . oo - 2x3=6
Ex 3: Given the times table of 7 7 x 5 = 35,
7% 6= 42 oxd=s
Tx7=419 sxo=10
5 _
Tx8="56 axb=12
7x9=63 Ix =1
7x10 =10 ox8=10
2x9=18
Calculate7><6: 2x10=20



e 2 x3=606

Ex 7: 3 x 8= 24]

Answer:

e 3x0=0
3x1=3
3x2=606
3x3=9
Ix4=12
3xb=15
3x6=18
IxT7T=21
3x8=24
3x9=27
3 x 10 =30

e 3 xXx8=24

Ex 8: 5 x8=40]

Answer:

e Hx0=0
5x1=5
5x2=10
H5x3=15
5x4=20
5x5=25
5x6=30
5XT7=235
5x8=40
5x9=45
5 x 10 =50

e 5 x8=40

Ex 9: 1 x4=16]

Answer:

e 4Ix0=0
Ix1=4
1x2=8
Ix3=12
4x4=16
4x5=20
4x6=24
A xT7T=28
4x8=32
4x9=236
4 %10 =40

o I x4=16

Ex 10: 10 x2=[20]

Answer:
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o 10Xx0=0
10x1=10
10x2=20
10 x 3=30
10 x 4 =40
10 x 5 =50
10 x 6 =60
10x7="70
10 x 8 =80
10x9=90
10 x 10 = 100

e 10x2=20

Ex 11: 3 x 5= 15]

Answer:

e Ix0=0
3x1=3
3xX2=6
3x3=9
3x4=12
3x5=15
3x6=18
IxT7T=21
Ix8=24
3x9=27
3 x 10 =30

e 3 xb5h=15

Ex 12: 4 x 7= 28]

Answer:

e 41x0=0
4dx1=4
4x2=8
Ix3=12
4x4=16
4x95=20
4x6=24
4xT7T=28
4 x8=32
4x9=236
4 x 10 =40

e I xT7T=28

Ex 13: 5 x 1 =[5]

Answer:
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e Hx0=0
5x1=5
5x2=10
hx3=15
5x4=20
H5xb5=25
5x6=230
5x7=235
5x8=40
5 x9=45
5x10=50

e Hhx1=5

Ex 14: 3 x 7= 21]

Answer:

e 3x0=0
Ix1=3
3xX2=6
3x3=9
3x4=12
3x5=15
3x6=18
IxT7T=21
3x8=24
3x9=27
3 x 10 =30

e I X T7=21

Ex 15: 2><8=

Answer:

e 2x0=0
2x1=2
2x2=141
2x3=606
2x4=38
2x5=10
2x6=12
2xT7T=14
2x8=16
2x9=18
2 x 10 =20

e 2 X8=16

Ex 16: 10 x 8 =[80]

Answer:
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o 10Xx0=0
10x1=10
10x2=20
10 x 3=30
10 x 4 =40
10 x 5 =50
10 x 6 =60
10x7="70
10 x 8 =80
10x9=90
10 x 10 = 100

e 10x8=280

Ex 17: 1 x 6 = 24]

Answer:

e 1Ix0=0
Ix1=4
4x2=8
Ix3=12
4x4=16
4x5=20
4x6=24
4x7=28
1 x8=32
4x9=236
4 x 10 =140

e Ix6=24

Ex 18: 2><7:

Answer:

e 2x0=0
2x1=2
2x2=141
2x3=606
2x4=28
2x5=10
2x6=12
2x7T=14
2x8=16
2x9=18
2 x 10 =20

e VX T7T=14

Ex 19: -5><7:

Answer:
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e 75x0=0
5x1=5
5x2=10
hx3=15
5x4=20
5xb5=25
5x6=230
5x7=235
5x8=140
5x9=45
5 x 10 =50

e 5 XT7=235

C TIMES TABLE OF 6

C.1 COUNTING BY 6S
Ex 20:

1x6:@

Answer:

1x6=06

1
+6

N

e 01 23456 78 91011121314151617 18 19 20

Ex 21:
2% 6= 12]
Answer:
[ ]

2 x 6 =6+ 6 counting by 6s : 6,12
=12

+6 +6

0123465678 910111213141516 171819 20

[ )
Ex 22:
3% 6= 18]
Answer:
[ )

3 X6 =6+ 6+ 6 counting by 6s: 6,12, 18
=18

1 2 3

+6 +6 +6

e 01234567 8 91011121314151617 18 19 20

Www.commeunjeu.com

Ex 23:

4% 6=24]

Answer:

4x6=6+6+ 6+ 6 counting by 6s: 6,12,18,24
=24

[ ]
1 2 3 1

+6 +6 +6 +6
N N T N T N

01 2 3 45 6 7 8 910111213141516 1718 19 20 21 22 23 24 25 26 27 28 29 30

Ex 24:
5% 6=30]
Answer:
°

5x6=6+646-+6+ 6 counting by 6s: 6,12, 18,24, 30
=30

o
1 2 3 4 5

+6 +6 +6 +6 +6
N N N N TN

01 2 3 45 6 7 8 9101112131415 16 1718 19 2021 22 23 24 2526 27 28 29 30

C.2 MULTIPLYING BY 6 WITH BREAKING DOWN

6 x 6 =36
00000
00000
00000
00000
00000
99090906
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><A6:24

A

5x6=30

7><6:

59x6=30

B el e )
dlslshslnlals

Cohobb

i Ve
i e
Qi N Vi

i e

% 6= (5% 6)+
=30+24
=54

9

C.3 MULTIPLYING BY 6

N 0 I O © N 0 I O
S © = 4 N mH N <f F 0 O

0000000000000
XXXXXXXXXXXX

000090

90000000

222222222
SO © = 4 &N MM N < <F o O

00000000000
XXXXXXXXXXX
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e Hx1=6

Ex 31:
Answer:

e (6x0=0
6x1=6
6x2=12
6x3=18
6x4=24
6x95=30
6x6 =36
6x7=42
6x8=48
6x9=054
6 x 10 =60

o Gx2=12

Ex 32:
Answer:

e O6xXx0=0
6x1=606
6x2=12
6x3=18
6x4=24
6x5=230
6x6=236
6x7=42
6x 8 =148
6x9=>54
6 x 10 =60

e Gx3=18

Ex 33:
Answer:

e (6x0=0
6x1=6
6x2=12
6x3=18
6x4=24
6x95=30
6x6 =36
6x7=42
6x8=48
6x9=>54
6 x 10 =60
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o Gx4=24
Ex 34:
6x2=12]
Answer:

e (6x0=0
6x1=6
6x2=12
6x3=18
6x4=24
6x95=230
6x6=36
6x7=42
6 x8 =48
6x9=054
6 x 10 =60

e 6x5=30

Ex 35:
6><3:
Answer:

¢ (Gx0=0
6x1=6
6x2=12
6x3=18
6x4=24
6x5=230
6x6=236
Ox7=42
6x 8 =148
6x9=0>54
6 x 10 =60

o x6=236

Ex 36:
6 x4 =[24]
Answer:

e (6x0=0
6x1=6
6x2=12
6x3=18
6x4=24
6x95=230
6x6=36
6x7=42
6 x 8 =48
6x9=054
6 x 10 =60

6x5=30]

6% 6=36]

6x 7=[42]
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o 6 X T7=42

Ex 37:
Answer:

e Gx0=0
6x1=606
6x2=12
6x3=18
6x4=24
6x5=230
6x6=236
6x7=42
6x8=48
6x9=0>54
6 x 10 = 60

o 6 Xx8=48

Ex 38:
Answer:

o (6 x0=0
6x1=6
6x2=12
6x3=18
6x4=24
6x5=230
6x6=236
6x7=42
6 x8=148
6x9=>54
6 x 10 = 60

e X 9=56

Ex 39:
Answer:

o OGx0=0
6x1=606
6x2=12
6x3=18
6x4=24
6 x5=30
6x6=236
6x7=42
6x 8 =148
6 x9=>54
6 x 10 = 60

e (6 x10=060
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(i><8:

6% 9= 56]

6% 10 =[60]

D TIMES TABLE OF 7

D.1 COUNTING BY 7S

Ex 40:
2x7 :
Answer:
[ )

2 X 7="T+ 7 counting by 7s: 7,14
=14

012345678 91011121314151617181920212223242526272829303132333435

Ex 41:
3xT :
Answer:
[ )

3 X 7="T+7+7 counting by 7s: 7,14,21
=21

012345678 91011121314151617181920212223242526272829303132333435

Ex 42:
4x7 :
Answer:
[ ]

4x7=T+7+7+7 counting by 7s: 7,14, 21,28
=28

[ ]
1 2 3 4

+7 +7 +7 +7
N N NN

012345678 91011121314151617181920212223242526272829303132333435

Ex 43:
5x7=35]
Answer:
[ )

5XT7=T+T7+7+7+7 counting by 7s: 7,14, 21, 28,35
=35

.
1 2 3 4 5

+7 17 7 +7 +7
N N N N

012345678 91011121314151617181920212223242526272829303132333435
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D.2 MULTIPLYING BY 7 WITH BREAKING DOWN

Ex 44:

Answer:

Answer:

6 x 7 =[42]

5x 7 =35 77

SRR
999356
999556
999506
999556
999556
990650

6x7T=0Bx7)+1xT7)
=35+7
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UL
UL
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UL

X4

EN{

Answer:

8x7=0bBxT7)+3xT)

= 56

D.3 MULTIPLYING BY 7

Ex 47
7x0=0]
Answer:
7Tx0=0
Tx1=7
Tx2=14
Tx3=21
7Tx4 =28
7xb5=235
7Tx6=42
7TxT7=49
7x8=56
7x9=063
7x10="70
x 0=
Ex
7x1=[7]

Answer:
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e 7Tx0=0

Tx1=7
Tx2=14
Tx3=21
7Tx4=28
7xb5=235
7Tx6=42
7TxT7=49
7x 8 =56
7x9=063
7x10="70

e Ix1=7

Ex 49:
Answer:

e 7Tx0=0
Tx1=7
Tx2=14
Tx3=21
7Tx4 =28
7x5=235
7TxX6=42
7TxT7=49
7x 8 =56
7Tx9=063
7x10="70

e I x2=14

Ex 50:
Answer:

e 7Tx0=0
Tx1=7
Tx2=14
7Tx3=21
7T x4 =28
7x5=235
7Tx6=42
TxT7T=49
7x8=56
7x9=063
7x10="70

e I x3=21

Ex 51:
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Answer:

o 7Tx0=0

Tx1=7
Tx2=14
Tx3=21
7Tx4 =28
7xb=235
7TxX6=42
7TxXT7T=49
7x8=56
7Tx9=063
7x10="70

o I x4=298

7x 2 ={14] Ex 52:
Answer:

e 7Tx0=0
Tx1=7
Tx2=14
Tx3=21
7Tx4=28
7Tx5=235
7Tx6=42
TxT7=49
7x 8 =56
7x9=063
7x10="70

e ' x5=235

7x3=21] Ex 53:
Answer:

e 7Tx0=0
Tx1=7
Tx2=14
Tx3=21
7Tx4 =28
7Tx5=235
7Tx6=42
TxT7T=49
7x 8 =56
7Tx9=063
7x10="70

o Tx6=412

7 x 4= 28] Ex 54:

7x5=[35]

7% 6 =42]
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7TxT=49] Ex 57:

Answer: 7% 10 :
e 7Tx0=0
Tx1=7 Answer:
Tx2=14
Tx3=21 o 7Tx0=0
7Tx4=28 Tx1=7
7Tx5H=235 Tx2=14
7Tx6=42 Tx3=21
TxT7=49 7Tx4=28
7x8=56 7Txb5=235
7TXxX9=03 7Tx6=42
7x10="70 TXT7T=49
o 7x7 =49 7x8=056
7Tx9=063
Ex 55: 7x10="70
T><8: e 7Tx10="70
Answer:

E TIMES TABLE OF 8

e 7Tx0=0
x =T E.1 COUNTING BY 8S
Tx2=14
Tx3=21 Ex 58:
7Tx4 =28
Tx5=35 2x 8= 16]
7TxX6=42
(xT=1 Answer: 2 X 8 = 8 + 8 counting by &s: 8, 16
7Tx8=156
=16
7x9=063
7% 10 =70 Ex 59:
e 7 xXx8=156 3><8=
Ex 56:
Answer: 3 X 8 = 8 + 8 =+ 8 counting by 8s: 8, 16, 24
7x9=63] S
=24
Answer: Ex 60:
° /x0=0 4)(8:
Tx1=7
Tx2=14
7x3=21 Answer: 4 X 8 = 8 + 8 + 8 4+ 8 counting by 8s: 8, 16,24, 32
7Tx4=28 =32
7Tx5=235 Ex 61:
Tx6=42
7x8=156
7Tx9=063
7% 10 = 70 Answer: D X 8 = 8 =+ 8 + 8 =+ 8 + 8 counting by 8s: 8, 16, 24732740
=40
e 7x9=063

Www.commeunjeu.com 10
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E.2 MULTIPLYING BY 8 WITH BREAKING DOWN

A

A

Jslslshslslslsl=]
L o e e e

(o e o e e

(i e Ve A

1x8=38
A=

900006
900008
900008
900008
900008
900008
900008

i s L )
i o e Ve e
i L o e
dlslslslslslslnle

v

990650

4><A8:32

min)w
min)w
min)w
min)w
mn)w
min)w
min)w
mnw

RRRRRREE
dlslElslslslsl=ls

A

Dohoobhb

i i e e i
I N L L
-DRRRDER.

A

(i L Ve e

v

MULTIPLYI
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Answer:

e x0=0
E8x1=28
83X 2=16
8x3=24
8x4=232
8 x5 =40
8 X 6 =48
8 x 7 =56
8 x 8=064
8x9="72
8 x 10 =80

e 3x0=0

Ex 67:
Answer:

e ¥x0=0
Ex1=28
8x2=16
8x3=24
x4 =32
8 x5 =40
8 x 6 =48
8 x 7 =56
8 X 8=064
Ex9="72
8 x 10 =80

e 33X 2=106

Ex 68:
Answer:

o x0=0
8x1=28
8 x2=16
8x3=24
8x4=232
8 x5 =40
8 X 6 =148
8 x 7 =56
88X 8 =064
8xX9="72
8 x 10 =80

e ¥x1=28

Ex 69:
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8% 2=16]

8><1:

Answer:

e Sx0=0
Ex1=28
8x2=16
§x3=24
8xX4=32
8 x5 =40
8 x 6 =48
8 x 7 =56
8 x 8=064
E8x9="72
8 x 10 =80

e 3x3=24

Ex 70:
Answer:

e Sx0=0
Ex1=28
8 x2=16
§x3=24
8 x4 =232
8 x5=40
8 X 6 =48
8 xT7=56
8 x 8 =064
8x9="72
8 x 10 =80

e x5 =40

Ex 71:
Answer:

e 3x0=0
X 1=28
8x2=16
§x3=24
8x4=232
8 x5 =40
8 X6 =48
8 x 7 =56
8 x 8 =064
8x9="72
8 x 10 =80

o x4 =232

12

8><3=

8% 5=40]

8 x4 =32]
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Ex 72:

Answer:

e x0=0
Ex1=8
8x2=16
8x3=24
8 x4 =232
8 x5 =40
88X 6=48
8 X 7=056
8 X 8 =064
E8x9="72
8 x 10 = 80

e 3XT7=056

Ex 73:
Answer:

e 3x0=0
Ex1=28
8x2=16
8x3=24
8 x4 =232
8 x5 =40
88X 6=48
8 X 7=056
8x8=064
§x9="72
8 x 10 = 80

e 3xX6=48

Ex 74:
Answer:

e 3x0=0
Egx1=28
8x2=16
8x 3 =24
8x4 =232
8 x5 =40
88X 6=48
8 X 7=056
8 x 8=064
§x9="72
8 x 10 = 80
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8% 7= 56]

8 x 6= 48]

8% 8= 64]

13

e 35X 8=064
Ex 75:
8 x9=72]
Answer:

e 3x0=0
Ex1=28
8x2=16
8x3=24
8 x4 =232
8 x5 =40
8 x 6 =48
8 x 7 =56
88X 8=064
Ex9="72
8 x 10 =80

e 3x9=72

Ex 76:
8 x 10 =[80]
Answer:

e x0=0
Ex1=28
8x2=16
8x3=24
8 x4 =232
8 x5 =40
8 x 6 =48
8 x 7 =56
88X 8=064
Ex9="72
8 x 10 =80

e 3x10=280

F TIMES TABLE OF 9

F.1 COUNTING BY 9S

Ex 77:
2% 9= 18]
Answer: 2 X 9 =90 + 9 counting by Os: 9, 18
=18
Ex 78:
3x9=27]
Answer: 3 X 9 =9+ 9+ 9 counting by 9s: 9,18,27
=27
Ex 79:
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4X9: Answer:9X4:(10X4)—(1X4)

=404

Answer: 4 X 9 =9 4+ 9 4 9+ 9 counting by 9s: 9, 18,27, 36 =36

=36
Ex 80: Ex 84

5x9=[45]
5 =45

AAAAAA ;5Xx9=9+9+94+9+9 counting by 9s: 9,18,27, 36, 45 9 1x5=5

=45

F.2 MULTIPLYING BY 9 WITH BREAKING DOWN

Ex 81:

QAT

92
1% 2

@@@@@@@@@g

I
b

QAQAQ
QAQAAQ
QAQAQY
QA

AR ¢

90000300 e

10x 2 =20

Answer:9X5:<10X5)—(1X5)
Answer:9><2:(10><2)—(1><2) —50—5
=18
Ex 82: Ex 85
9 x 3 ={27]
9x3 1x3=3 9 x 6 = 54]

Answer:9x3z;to_x33)—(1X3> @@@@@@@
=27

Ex 83:

94
1x4=4

959590996508 0 X 6= 106)~ (1¢6)
009000003030 Tu
90900000000

00900000000

) 10 x 4 = 40 } 9 7[63]
www.commeunjeu.com 14

Ex 86:
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o Ix0=0

I9x1=9
I9x2=18
Ox3=27
9x4 =236
9x5=45
9x6=054
9x7=063
I9Ix8=T72
9x9=281
9%x10=90

e Ux1=9

Ex 91:
Answer:

e Ix0=0
I9x1=9
I9x2=18
9x3=27
9x4=36
9x5=45
9x6=54
9x7=063
Ix8=T72
9x9=2=8I1
9x10=90

e UXx2=18

Ex 92:
Answer:

e 9IYx0=0
I9x1=9
9x2=18
9x3=27
9x4=36
9x5=45
9%x6=>54
9x7=063
Ix8="T72
9x9=281
9%x10=90

e x4 =236

Ex 93:
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9x2=18]

9 x4 =[36]

9><6:

Answer:

e Ix0=0
O9x1=9
9x2=18
9x3=27
9 x4 =236
9x5=45
9x6=0>54
9x7=063
I9x8=T72
9x9=281
9%x10=90

e O X6=>54

Ex 94:
Answer:

e Ix0=0
9x1=9
9x2=18
9x3=27
9 x4 =236
9 x5 =45
9x6=0>54
9x7=063
I9x8=T72
9x9=2=81
9x10=90

e Ux3=27

Ex 95:
Answer:

e Ix0=0
I9%x1=9
9x2=18
9x3=27
9 x4 =36
9xb=45
9x6=0>54
9x7=063
I9x8="72
9x9 =281
9 x 10 =90

e UYx5H=45

Ex 96:

9><3=

9x5=45]
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Answer:

e Ox0=0
9x1=9
9%x2=18
9x3=27
9x4=236
9x5b=45
9x6=0>54
9x7=063
Ix8=72
9x9=281
9x10=90

e U XT7T=03

Ex 97:

Answer:

e Ix0=0
9x1=9
9x2=18
9x3=27
9x4=236
9xb=45
9x6=0>54
9x7=063
I9x8="72
9x9=281
9 x10=90

e O x10=90

Ex 98:

Answer:

e Ix0=0
I9x1=9
9x2=18
9x3=27
9x4=236
9xb5=45
9x6=0>54
9x7=03
9x8="72
9x9=281
9x10=90

e O xXx8=T72
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9><7=

9 x 10 =[90]

9x8=[72]
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Ex 99:
Answer:

e Ix0=0
9x1=9
9x2=18
9x3=27
9x4=236
9x5=45
9x6=054
9x7=063
I9x8="72
9x9=281
9x10=90

e U x9=238I1

9x9=[81]

G TIMES TABLES FROM 1 TO 10

G.1 MULTIPLYING BY 1 TO 10

Ex 100:
6 x 4 =[34]
Answer:
x [1[2]3] 4 [5]6[]7[8[]9]10
Tl 123 45678910
2246 8 [10[12]14]16][18] 20
303169 12 |15 [18]21[24]27] 30
A48 [12] 16 |20 24283236 40
| 5 |5 [10]15] 20 |25 3035|4045 | 50
6| 6 |12]18 30 |36 | 42|48 [ 54 | 60
7|7 1421 | 28 |35 424956 | 63| 70
S| 81624 32 |40 4856|6472 80
O [ 91827 36 [45 5463|7281 90
10 [ 10 [20 [ 30 | 40 [ 50 [ 60 | 70 | 80 | 90 | 100
o Gx4=24
Ex 101:
9% 3=[27]
Answer:
x [1[2] 3 [4[5]6[7[8[]9]10
12 3 45678910
2 2[4 6 [ 8]10[12]14]16][18] 20
30316 9 [12]15 18] 21 [24][27] 30
LA 812 [16]20 24 28] 32[36] 40
e| 5 |5 [10] 15 [20] 2530|3540 45| 50
6 | 6 [ 12| 18 |24 3036|4248 |54 60
7|7 |14 21 [ 2835 424956 | 63| 70
8 | 8 16| 24 [32[40 48[ 56 |64 | 72| 80
90918 36 | 45 | 54 [ 63 [ 72| 81| 90
10 [ 10 [20 | 30 |40 [ 50 [ 60 | 70 | 80 | 90 | 100
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e Ux3=27 Answer:

x| 123 [4[5]6] 78] 9 ]10
Ex 102: T 1213251617128 9 |10
8 x 7 =[56] 2 246 |8 ]10[12]14]16] 18 [ 20
313169 |12]15 18] 2124 27 [ 30
e T4 8121162024 [23]327] 36 | 40
newer e| 5 | 5 1015202530 35|40 45 | 50
x [1[2]3]4]5[6] 7 [8]9]10 6 | 6 [12]18 |24 30|36 |42 |48 |[54]| 60
it 2]3]45]6] 7 [8]9]10 7 1 7 [ 14 21|28 | 354249 [ 56| 63 | 70
221416 8]10[12] 14 [16[18] 20 S | 8 | 16|24 3240|4856 |64 72 | 80
33|69 |12]15 |18 | 21 |24 |27 | 30 91 9 |18]27 3645|5463 72| 81 90
Al 4] 812116 ]20]24] 28 [32]36] 40 1010203040 |50 60 70|80 | 90 | 100
o| 5 | 5 |10 ] 15202530 35 |40 ] 45| 50
616 | 12|18 | 243036 42 |43 |54 60 ® 6x9=>54
71 7 [ 142128 [ 3542 49 | 56 | 63 | 70
8| 8 |16]24]32]40] 48 64 | 72| 80
9 | 9 [ 1827 36|45 54 63 | 72 8L [ 90
1010203040 |50 |60 ] 70 |80 | 90 | 100
e 3 X 7=056
Ex 103:
5% 7=[35]
Answer:
x| 12 ]3[4[5]6] 7 [8[9] 10
T 1234516 7 [ 819710
2 246 |8 ]10[12] 14 |16 ] 18| 20
313169 |12]15 18] 21 | 2427 30
T 48121162024 28 [32]36] 40
o 5 [ 5101520 25]30][35]]40]45] 50
6 | 6 |12 1824|3036 42 | 48 | 54 [ 60
77T a2t 2835 [42] 49 |56 | 63 | 70
S | 8 |16 |24 32|40 |43 56 | 64| 72 80
9 | 9 | 1827 36|45 |54 63 | 72|81 [ 90
101020 [ 30|40 [ 50 [ 60| 70 | 80 | 90 | 100
e 5xT7=35
Ex 104:
8 x 6 =[48]
Answer:
x| 1123 [4[5] 6 | 7[8[9]10
T 1234516 |7 [s89]10
2 246|810 12 [14]16] 18] 20
313169 |12]15] 18 [21] 2427 30
T 481211620 24 [28[32]36] 40
o| 5 | 5 |10 ]| 1520 25] 30 | 35|40 ] 45| 50
6 | 6 | 12182430 36 [42]48 | 54| 60
7 7 [ 142128 | 35| 42 [ 49| 56 | 63 | 70
8 | 8 [16]24(32]40 56 | 64 | 72| 80
9| 9 [ 182736 |45 54 [63] 72 8L [ 90
101020 30|40 50| 60 | 70 | 80 | 90 | 100
e 3x6=48
Ex 105:

6x9=[54]
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